Macroeconomics: AD / AS REVIEW -- ANSWERS
Use the graphs and the other information provided to answer the questions. BEFORE answering the questions DRAW the appropriate shifts on the graphs and use the graphs to FIND the answers

	1. Assume that there is an increase in government spending
Which determinant? _____G______
 AD or  AS?
 [image: image1.emf]

 or  [image: image2.emf]


[image: image3]AD
 [image: image4]
What happens to:
Real GDP _____[image: image5]__________

Unemployment _______[image: image6]________

Price Level ________[image: image7]_______

Inflation _______[image: image8]________

Economic Growth ______[image: image9]_________

[ GDP or  potential GDP ?]  GDP


	2. Assume that there is an increase in taxes
Which determinant? ____TAXES_______
 AD or  AS?
 [image: image10.emf]

 or  [image: image11.emf]


[image: image12]AD
 [image: image13]
What happens to:
Real GDP _______[image: image14]________

Unemployment _____[image: image15]__________

Price Level _____[image: image16]__________

Inflation ___[image: image17] (RATCHET EFFECT)
Economic Growth ______[image: image18]_________

[ GDP or  potential GDP ?]




	3. Assume that there is reduced gov’t red tape
Which determinant? __ RED TAPE ____
 AD or  AS?
 [image: image19.emf]

 or  [image: image20.emf]


[image: image21]AS
 [image: image22]
What happens to:
Real GDP _______[image: image23]________

Unemployment _______[image: image24]________

Price Level ______[image: image25]_________

Inflation ______[image: image26]_________

Economic Growth ______[image: image27]_________

[ GDP or  potential GDP ?]
 potential GDP

	4. Assume that there is an increase in business investment
Which determinant? ____I______
 AD or  AS?
 [image: image28.emf]

 or  [image: image29.emf]


[image: image30]AD
 [image: image31]
What happens to:
Real GDP ______[image: image32]_________

Unemployment ______[image: image33]________

Price Level ______[image: image34]_________

Inflation ______[image: image35]_________

Economic Growth ______[image: image36]_________

[ GDP or  potential GDP ?]  GDP
 


	5. Assume that there is an increase in oil prices due to war
Which determinant? PRICE OF RESOURCES 
 AD or  AS?
 [image: image37.emf]

 or  [image: image38.emf]


[image: image39]AS
 [image: image40]
What happens to:
Real GDP ______[image: image41]_________

Unemployment ______[image: image42]_________

Price Level _______[image: image43]________

Inflation ______[image: image44]_________

Economic Growth ______[image: image45]_________

[ GDP or  potential GDP ?]

 
	6. Assume that the Fed decreases the money supply
Which determinant? ______ MS _____
 AD or  AS?
 [image: image46.emf]

 or  [image: image47.emf]


[image: image48]AD
 [image: image49]
What happens to:
Real GDP _____[image: image50]__________

Unemployment _____[image: image51]_________

Price Level _____[image: image52]__________

Inflation _[image: image53](RATCHET EFFECT)_
Economic Growth ______[image: image54]_________

[ GDP or  potential GDP ?]

 


	7. Assume that there is new technology that reduces electricity costs
Which determinant? _PRICE OF RESOURCES_
 AD or  AS?
 [image: image55.emf]

 or  [image: image56.emf]


[image: image57]AS
 [image: image58]
What happens to:
Real GDP ______[image: image59]_________

Unemployment _____[image: image60]__________

Price Level _______[image: image61]________

Inflation _____[image: image62]__________

Economic Growth ______[image: image63]_________

[ GDP or  potential GDP ?]
 potential GDP
 
	8. Assume that exports increase
Which determinant? _____ Xn _____
 AD or  AS?
 [image: image64.emf]

 or  [image: image65.emf]


[image: image66]AD
[image: image67]
What happens to:
Real GDP ______[image: image68]_________

Unemployment _______[image: image69]________

Price Level ______[image: image70]________

Inflation _______[image: image71]________

Economic Growth ________[image: image72]_______

[ GDP or  potential GDP ?]
 GDP
 


	9. Assume that there is a decrease in marginal tax rates which increases labor productivity
Which determinant? _ PRODUCTIVITY _
 AD or  AS?
 [image: image73.emf]

 or  [image: image74.emf]


[image: image75]AS
[image: image76]
What happens to:
Real GDP _____[image: image77]_________

Unemployment ______[image: image78]________

Price Level ______[image: image79]________

Inflation ______[image: image80]________

Economic Growth _____[image: image81]__________

[ GDP or  potential GDP ?]
 potential GDP
 
	10. Assume that there is an poor harvests world wide which increases resource prices
Which determinant? _ PRICE OF RESOURCES __
 AD or  AS?
 [image: image82.emf]

 or  [image: image83.emf]


[image: image84]AS
[image: image85]
What happens to:
Real GDP _____[image: image86]_________

Unemployment _______[image: image87]________

Price Level _______[image: image88]________

Inflation _______[image: image89]________

Economic Growth _______[image: image90]_______

[ GDP or  potential GDP ?]

 


	11. Assume that there is a rise in the foreign exchange value of the dollar
Which determinant? ____ Xn ______
 AD or  AS?
 [image: image91.emf]

 or  [image: image92.emf]


[image: image93]AD
[image: image94]
What happens to:
Real GDP _____[image: image95]__________

Unemployment ______[image: image96]_________

Price Level ______[image: image97]_________

Inflation ______[image: image98]_________

Economic Growth _______[image: image99]________

[ GDP or  potential GDP ?]

 
	12. Assume that there is an increase in labor training and education
Which determinant? __ PRODUCTIVITY _
 AD or  AS?
 [image: image100.emf]

 or  [image: image101.emf]


[image: image102]AS
[image: image103]
What happens to:
Real GDP ______[image: image104]_________

Unemployment _______[image: image105]________

Price Level _______[image: image106]________

Inflation ______[image: image107]_________

Economic Growth _______[image: image108]________

[ GDP or  potential GDP ?]
 potential GDP
 


	13. Assume that there is an increase in consumer debt
Which determinant? _____[image: image109]C _____
 AD or  AS?
 [image: image110.emf]

 or  [image: image111.emf]


[image: image112]AD
 [image: image113]
What happens to:
Real GDP _______[image: image114]________

Unemployment ______[image: image115]________

Price Level __[image: image116] (RATCHET EFFECT)__
Inflation ______[image: image117]_________

Economic Growth ______[image: image118]_________

[ GDP or  potential GDP ?]

 
	14. Assume that there is a decrease in consumer confidence
Which determinant? _____[image: image119]C ______
 AD or  AS?
 [image: image120.emf]

 or  [image: image121.emf]


[image: image122]AD
[image: image123]
What happens to:
Real GDP _______[image: image124]________

Unemployment _______[image: image125]________

Price Level __[image: image126] (RATCHET EFFECT)_
Inflation _______[image: image127]________

Economic Growth ________[image: image128]_______

[ GDP or  potential GDP ?]

 


	15. Assume that there is an recessions in Europe, Japan, and Canada
Which determinant? _____[image: image129]Xn ___
 AD or  AS?
 [image: image130.emf]

 or  [image: image131.emf]


[image: image132]AD
 [image: image133]
What happens to:
Real GDP ______[image: image134]_________

Unemployment ______[image: image135]_________

Price Level _[image: image136] (RATCHET EFFECT)_
Inflation _______[image: image137]________

Economic Growth _____[image: image138]__________

[ GDP or  potential GDP ?]

 
	16. Assume that there are discoveries of new oil fields
Which determinant? _ PRICE OF RESOURCES_
 AD or  AS?
 [image: image139.emf]

 or  [image: image140.emf]


[image: image141]AS
[image: image142]
What happens to:
Real GDP _______[image: image143]________

Unemployment _______[image: image144]________

Price Level ____[image: image145]___________

Inflation _____[image: image146]__________

Economic Growth ______[image: image147]_________

[ GDP or  potential GDP ?]
 potential GDP
 


	17. Assume that there is an increase in interest rates not caused by price level changes
Which determinant? ____[image: image148]MS ______
 AD or  AS?
 [image: image149.emf]

 or  [image: image150.emf]


[image: image151]AD
[image: image152]
What happens to:
Real GDP _____[image: image153]_________

Unemployment _____[image: image154]________

Price Level _[image: image155] (RATCHET EFFECT)_
Inflation ______[image: image156]________

Economic Growth _____[image: image157]_________

[ GDP or  potential GDP ?]

 
	18. Assume that there is a decrease in the amount of money in circulation
Which determinant? _____[image: image158]MS _____
 AD or  AS?
 [image: image159.emf]

 or  [image: image160.emf]


[image: image161]AD
 [image: image162]
What happens to:
Real GDP _____[image: image163]_________

Unemployment _____[image: image164]________

Price Level _[image: image165] (RATCHET EFFECT)_

Inflation ______[image: image166]________

Economic Growth ______[image: image167]_______

[ GDP or  potential GDP ?]

 


	19. Assume that there is an international agreement to make businesses reduce pollution
Which determinant? __RED TAPE_____
 AD or  AS?
 [image: image168.emf]

 or  [image: image169.emf]


[image: image170]AS
 [image: image171]
What happens to:
Real GDP _____[image: image172]________

Unemployment ______[image: image173]________

Price Level _____[image: image174]_________

Inflation _____[image: image175]________

Economic Growth ______[image: image176]________

[ GDP or  potential GDP ?]

 
	20. Assume that there is an more competition due to fewer trade restrictions
Which determinant? _PRODUCTIVITY_
 AD or  AS?
 [image: image177.emf]

 or  [image: image178.emf]


[image: image179]AS
[image: image180]
What happens to:
Real GDP _______[image: image181]______

Unemployment ______[image: image182]________

Price Level ______[image: image183]_______

Inflation ______[image: image184]______

Economic Growth _____[image: image185]________

[ GDP or  potential GDP ?]
[image: image186] POTENTIAL GDP
 


